
Time: 3 Hours

Instructions: i. Attempt zri l cir-restions.
2. Answers 1o the trvo seciions rnust be written it i separate : ' i l ls\\ 'er ht)t)l 'S

3. Figures to the right indicate fuil tnarlts.
4. z\ssurne suitable data. if necessarv.
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Sectit ln-I

I)raw and explain 8085 litrs struc'tttrc n'ith e><arnl-'le of memor,v rca<i operation'

Write a prr:gram to generate a continuous square r,r'ave rt'ith the periocl of 4tlilprs.

Assume the system ciock f,requency is ? MtIz and use bit Dtl of port0 to oLltpt-tt iire

square wave. ( i \{VI Rd. 8-bit ciata - 7 
' I- 

st i i tes. DOil Reg. - 4' l 'state:r. J}iZ l .abei -

1o l7 T s tates) '  

t l i t

Give classificatioir of lu4en'ror1"ancl cx{-.lain e;rch in brief .
Sir bytes of data are stored in nrernory'] i icatiorrs start ine at D0-5C1-i. Adci al l  t l ic t l l i tn

bytes. Use lcgister B to save alt, \ ,cair ies generatei i .  rvhi le adcling t l ie data 1:;"te-s. Slct 'e

the entire sum at trvo cotrseclttive n1eruor-v k:cations, D0701'1 alrd I-tC7lH.
Classif,v the 8085 interrr.rpts.

Explain the generation of lr4emoly R.eadiWrite and IiO IteadiWrjt,-' control signals u'ith

the help of neccssary skc-1ch.
An I bit 

'[:inarv 
number 7i] h i.q sioreci in rnemorv locatron D060 h. Write a program tc

convert this binary irumber to ASCII code and store the codes ln memory locations
8000 h and E00l h.( ' Ihe hexadecimal nunrbers 30 h to 39 h represent 0 to 9 decimai
numbers and 41 h to 5,A h represenl ,A tlrrough Z).

OR

Il lustrate the steps andtiming of ciata f lora'when the instruction code 0100 i l  l l :4F h
(for MOV Cl, A instruction) stored in location 2005 h. is being fetched.
Give detail of output ailer execution of following instructions: (Vienrory' iocation
2050 h contains binarv data F7 lr l

Que.-1 (A)

{B)

Que.-1 (A)

{B)

(c)

Que.-2 {A)

Que..2 (A)

(B)

o
6

$
il

(l])

1. LXi i l ,  2050 h
MOV A,M

2. LDA 2050 h
3, LXI 8,2050 h

LDAX B

4. N4VI A. AA l i
) )  T  / - '
I tLL

R-{L
RAIT

5 LXI Fl .  2050 h
]NR VI
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Que.-3 (A) l.he memory aiiclress of the last iocation of a 2K bvte memory chip is given as FBFF h'

SPecif-v the starting address'
(B)Spec i t ' i , the tburco l r t ro ls ig r ra lsconrmot r lyusedb l , , the80S5.
(C) Sto,e tuuu n,;nlrers gA h and BT h in filemory locations !..200'l.r 

and t]20i 1-r. Adc[ these

tv r ,on l tn lbersat rdStorethei - i l )Swel i t rnrentory locat ionsC2a2h^: . ,1 '? : ] ' ' ' . . ' ^ .^ - ' ' ' '
(D) Load gll h i' register A an<J 6C h in registei'B and perform the EX-OR operatiou rvith

the ,umbers storecl in register A and B ancl store result in memory location f-20{J h'

(Use onl-v AND, OR anci Complement operation)'

Student  Exarn  No '

2
:l

Section-lI

h. Wi'ite instructions ti-t trattsfe r the datir hvtc of 
"\

three di f leretrt oPcodes :

pair (3) STA 16 bit address i l l trstrates t irenr with

:  . . : , ' i

control word of 8155 programmabie l/O porr"' l '6

OR

Explain the data transl'er
r;lietch and examPie.

iiuring the execution of the cALL instmction with necessarli 6

Draw and explairr bloult diagram and controlrvorcl of 8255 programnrablc f/tl) potlr

Data(H):  3J ,  A2,1r2.82,57 '  5A.7F'  DA, E5, 88

Explain the 3-to-8 line clectrder with logic symbol ancl functionaltable.

Explain each bit of SIM instruition in brief'
Draw the circuit to implement instruction RST6 (F7 h) for 8085.

write an ALP to find out 1's and 0's present in the EA h nr-rniber'

END OF PAPER

Que.-4 (A)

Que.-4 (A)

(B)

Que.-S (A)
(B)

Que.-5 (A)
(B)

Que.-6 (A)
(B)
(c)
(D)

(B)

Accunrulator holds the data b)'te AB

to the menron locat io t i  E500 h us ing
(1) l \ ' {OV M, A (2) STAX B/D reg

the help of block diagrants.
Drarv ancl explain blocl< diagram and

rr rd t imcr .

Draw the timing diagramtbr executton of IN instructitrrt.

Write an ALP to loai one number into I] register ancl compare it rvith the content of A

rcgistcr. If A>B store 01 h in register C. If A:B store 00 h in register C' If A<B store

{)l  h irr lcgister C.

OR

Draw the timing diagram for execution of STA 8000 h instruction' 6

Find the positive and negative numbers rn an afiay of 10 elements' Assume alrag 5

starting from C050 ir onwards. Store the result of number of positive numbers in W

D050 h and number cf negative numbels in D05 i h'

t

2
J

4

PageNo.2  " f  L


